N 2 0l & AF S E A A
2009 = =0 AF 2B
S AEST D
M Lol=x EX
ool LolKtel &S (el m2l)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
NEESn 51,224,933 44,003,793 7,221,140
= 17,701,597
Al 24,584,574
2 8,938,762
o=y 24,426,219 8,003,263 6,332,956
= 9,988,727
Al 11,105, 196
2 3,332,296
colgntel &s 1,577,247 1,338,020 239,227
= 423,579
Al 597,464
2 556,204
2eISH BAX20l AL 442,370 436,420 5,950
= 84,308
Al 183,193
2 174,869
101 Q12| 406, 192 375,221 30,971
= 79,030
Al 178,819
? 148,343
P EE =R 406,192 375,221 30,971
S2SH BATZ0l oAy
406, 192,0002 406,192
2 79,030
Al 78,819
2 148,343
201 L2yl 1,100 0 1,100
= 550
Al 550
01 AFR2elt] 1,100 0 1,100
22 ISH BIXZ0 AR
1,100,0002! 1,100
= 550
Al 550
206 T2l 35,078 61,199 ~26,121
= 4,728




S AEST D
M Lol=y EX

ool wolgdRiel BE (chol: mel)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

206 M=l Al 3,824
= 26,526

01 MZHl 35,078 61,199 A26,121
O<clsdl &3 XNZ0l M=4l 35,078,000& 35,078
2 4,728
Al 3,804
- 26,526

coloEsz XA 751,900 606,900 145,000
= 292,000
Al 292,000
- 167,900

101 Q12| 351,070 311,244 39,826
= 91,585
Al 91,585
= 167,900

10 JIZAH22ASES 351,070 311,244 39,826
O3 X0l s oAl 351,070,000 351,070
= 91,585
Al 91,585
- 167,900

201 ZEH2EH] 1,000 0 1,000
= 500
Al 500

01 Atf2teld 1,000 0 1,000
OS&XNZO0l & AR 2eld] 1,000, 000& 1,000
= 500
Al 500

206 M= dl 10,000 54,960 244,960
= 5,000
Al 5,000

01 M=ZHl 10,000 54,960 A44 960
ozaANA0 £ M| 10,000, 0002 10,000
= 5,000
Al 5,000

307 QI2toIA 389,830 240,696 149,134




AN A2 =X

M Lol X

ool wolgdRiel BE (chol: mel)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

307 glz2told = 194,915
Al 194,915

02 BlZtFAE=X 389,830 240,696 149,134
Okeoloietg=z XA 389,830,000& 389,830
= 194,915
Al 194,915

-2 30 A K& 85,192 95,050 29,858
= 22,971
Al 22,971
- 39,250

101 Q12| 36,830 66,700 229,870
= 9,977
Al 9,977
- 16,876

10 JIZtH22ASE+ 36,830 66,700 N29,870
OL-E2HHAY 21 AHI 36,830,000& 36,830
= 9,977
Al 9,977
- 16,876

201 LEHRHH| 2,000 3,000 A 1,000
= 540
Al 540
- 920

01 AtS2eldl 2,000 3,000 A 1,000
OL-LSAHAHAS AtR2teltl 2,000,000& 2,000
= 540
Al 540
- 920

206 M=l 15,412 25,350 9,938
= 4,160
Al 4,160
- 7,092

01 MZ 4l 15,412 25,350 29,938
O=-=8H0AY THEH 15,412,000& 15,412
= 4,160




SA
X XH .
(=

chel:

APE| = X 2t
Col= A

Colgxiiel ¥

SN C(BH) - NRAY - HES Aro Bl 2
Ol &k
Al 4,160
- 7,092
307 gQiz2tol™ 30,950 0 30,950
= 8,294
Al 8,294
- 14,362
02 QIABNRZE 30,950 0 30,950
OL-SEHHAIY XA(L=SX 3 2)
30,950,000& 30,950
= 8,294
Al 8,294
- 14,362
LColdRel a2 Mol K& 59,100 23,100 36,000
= 24,300
Al 24,300
- 10,500
101 ol t| 30,000 15,000 15,000
= 9,750
Al 9,750
= 10,500
10 JI2ZHHZ22sSEs 30,000 15,000 15,000
OLolXiel MEolsd elAy| 30,000, 000& 30,000
= 9,750
Al 9,750
- 10,500
307 glztold 29,100 8,100 21,000
= 14,550
Al 14,550
02 QItHAaE xR 29,100 8,100 21,000
OLolgdRtelsadd|2 MF0ols olH|
29, 100,000& 29,100
= 14,550
Al 14,550
Lololgddgl|le 28 XA 170,000 165,000 5,000
Al 75,000
- 95,000
307 glzZtold 170,000 165,000 5,000




S AEST D
M Lol=y EX

ol -olaNtel EHE (chol: M S
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
307 QI2t0lA Al 75,000
3 95,000
05 BIRASIES 170,000 165,000 5,000
OL-oloiax ez 2| 170,000,0002 170,000
Al 75,000
2 95,000
LB COIAR ALY X 1,685 1,550 135
201 Lpre gl 1,185 1,050 135
01 A= 2elt] 1,185 1,050 135
OLITpVEIPYE= Ty PN 1,050,000& 1,050
O-QIUNRIANY BIt ERE M
15,0002 %90 135
203 PeRETY| 500 500 0
03 ABFNYIEAY] 500 500 0
OLoluTtelAte =2 500, 0008 500
Al b €4 HY AHI X & 67,000 0 67.000
307 QI2H0IA 67,000 0 67.000
05 BIRteleta 67.000 0 67.000
OAl b € B AHEI X & 67.000,0002 67,000
CONMEXAIE 2Y 1,743,968 1,620,040 123,928
Al 631,406
= 1,112,562
22y xd 41,703 33,810 2,893
201 et 33,480 30,930 2,550
01 At=R22[H] 31,500 28,950 2,550
OZ=2Y F4J 202
35,0009 %7571 A 122 31,500
02 BZESYHI 1,980 1,980 0
SEEPIICEA= = 200,000 *23] 400
02242 80,0002 117 4 880
OFIIHH A4 50,0002 * 1474 213 700
301 YPrEAR 8,223 7,880 343
IIEEEEES E 8,223 7,880 343
oZzgmMylies 7Y
57121+ 12004 2+ 1004 * 122 8,223
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SA
X XH .
(=

chel:

At = X ot
Lol=EX s
LOINIENAE 2

SN S(B) - NRAY - B2 Aro e =2
224 29 N& 499,765 450,980 48,785
Al 171,825
- 327,940
307 QIt0IA 499,765 450,980 48,785
Al 171,825
T 327,940
02 QtFAE X 499,765 450,980 48,785
OZ2Y 2g4| & SH2HI(AlILl, 7H])
286, 375,000& 286,375
Al 171,825
T 114,550
OZ2Y 294 & H2HI(2l)
213,390,000& 213,390
LosXg 2 249 N& 645,869 661,330 A 15,461
Al 235,869
- 410,000
307 glz2told 645,869 661,330 A 15,461
Al 235,869
= 410,000
05 QIZtRE 3 645,869 661,330 A 15,461
Ok o=Xlsl& 23| 645,869,000& 645,869
Al 235,869
- 410,000
LIRS 29 K& 309,000 300,000 9,000
Al 123,600
- 185,400
307 glz2told 309,000 300,000 9,000
Al 123,600
- 185,400
05 QIZtREZ 309,000 300,000 9,000
OLkClZstdlH 23| 309,000,000 309,000
Al 123,600
- 185,400
22Y HII28 ESAgY & 79,000 61,600 17,400
Al 43,000
- 36,000




S AEST D
M Lol=y EX

el Q0= RN 2 (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

307 2IZ2t0IA 79,000 61,600 17,400
Al 43,000
= 36,000

02 QItFAE X 79,000 61,600 17,400
OZ2Y WItEst EsS A 79,000,000& 79,000
Al 43,000
- 36,000

CoSME gHel X&E 7,280 6,720 560
Al 5,600
- 1,680

307 2IZ2t0lA 7,280 6,720 560
Al 5,600
= 1,680

02 QItFAE X 7,280 6,720 560
OLCISALE el At 7,280,000& 7,280
Al 5,600
- 1,680

Lollis 29 N2 33,850 30,600 3,250
Al 16,925
- 16,925

307 glztold 33,850 30,600 3,250
Al 16,925
- 16,925

02 QtFAaE X 33,850 30,600 3,250
OLoltist 24| 33,850,000& 33,850
Al 16,925
- 16,925

=Y HE=+ 64,584 34,000 30,584
Al 32,292
- 32,292

401 AU =204 64,584 34,000 30,584
Al 32,292
- 32,292

01 Al&HI 64,584 34,000 30,584




2AM: AtRIS X0
M Lol=X =X
el Q0= RN 2 (SHol:®el)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZ2Y 23 & c2Ad Hex
64,584,000& 64,584
Al 32,292
T 32,292
ZRY(MEFD]) JIsES 4,590 10,000 25,410
Al 2,295
- 2,295
405 XH&HESH| 4,590 10,000 25,410
Al 2,295
- 2,295
01 XA ESEH=HI 4,590 10,000 25,410
OZzg(May)|) JsE2 4,590,000& 4,590
Al 2,295
T 2,295
co=EXeg 2 JIsEd 58,327 0 58,327
402 QIEXE01H 58,327 0 58,327
01 QUAR=2EX 58,327 0 58,327
Ok =Xsl2 JIsE2d 58,327,000& 58,327
LSME OHEDIEE =4 12,843,951 8,926,193 3,917,758
= 8,792,267
Al 2,391,479
- 1,660,205
=g as NS 12,315,824 7,941,541 4,374,283
= 8,792,267
Al 2,114,134
- 1,409,423
301 Lptsasg 12,315,824 7,941,541 4,374,283
= 8,792,267
Al 2,114,134
- 1,409,423
01 A2 =0z 12,315,824 7,941,541 4,374,283
OJdIxzkg8da Xa 12,315,824,000& 12,315,824
= 8,792,267
Al 2,114,134
T 1,409,423
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A ASISE X
o Lol=) ZA
CHol: LS ME OFEDIE X4
SN HB - S2(3H) - MEAY - BAS Aol a4
01l &t o8
307 ©I2H0|H Al 84,500
= 6,760
02 OI2tHAEH X 91,260 78,000
OHSE2EHE HAS MOt Ql AAMBHE
91,260,000 91,260
Al 84,500
- 6,760
HNASLo AL NE X 1,502 1,502
Al 1,502
301 dE8BAZ 1,502 1,502
Al 1,502
01 MIBEHHHZ2 1,502 1,502
OL ol AHXLRIEHH| 1,502, 000& 1,502
Al 1,502
2z 0l g sSAed 2249 2,400 2,400
Al 1,200
- 1,200
307 2I2tolA 2,400 2,400
Al 1,200
2 1,200
02 QI AE X 2,400 2,400
Ofz ol0I2sSAE 24 2,400,000& 2,400
Al 1,200
- 1,200
HASLo 224 X8 44,640 44,640
Al 22,320
- 22,320
301 L8 AMZ 44,640 44,640
Al 22,320
- 22,320
01 ABIEEE2G2 44,640 44,640
OMAS L0l 2= 44,640,0002! 44,640
Al 22,320
- 22,320
ArAlg 224 HHPY 4,940 0




2AM: AtRIS X0
By o=y S

_I_J
ol - =
ool ==

S BB (EH) - NEAY - BAS 0l & o4 e HInE
d2AY R34 FHIEZS Al 2,470
- 2,470
402 BIZ2EX =0l 4,940 0 4,940
Al 2,470
- 2,470
01 QUZNEEE=X 4,940 0 4,940
OTEAY PRI MHIRY
4,940,000 » 14| 4,940
Al 2,470
- 2,470
dESE Lo=X AMHIA K& 416,365 597,893 A 181,528
= 118,181
Al 294,859
- 3,325
LosIIME A et X2 2,125 1,625 500
201 LB H| 625 625 0
03 SHAI2EHI 625 625 0
OZ=229 & @At XI&Hl 625
o&=8 M= 370
- THEE 150, 000& * 14 150
- HALE 70,000 =14 70
- 150, 000& * 14 150
oHEE NXE 255
=10 15,000& =54 75
- S2XHIHe) 15,000 =104 150
- SSXHEA) 15,0003 #2904 2~ 30
203 SR F&H| 1,500 1,000 500
03 AIHEZFAHRFEY| 1,500 1,000 500
@EIE-PNPNZ=E=F 1,500, 000& 1,500
SHLO ot X0l AFY XI& 1,200 1,200 0
307 220N 1,200 1,200 0
02 QUZHEAEX 1,200 1,200 0
OC2LAH 1,200, 000& 1,200
SHLO MBI A OFHA 84,020 115,038 A31,018

_11_




A ASISE X
Mm: Lol=X ZX
Chelr 2EE o= MHIA X (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SEHLO MESX S A OHA = 58,814
Al 25,206
307 QIZtolA 84,020 115,038 A31,018
= 58,814
Al 25,206
02 0I2tFAE X 84,020 115,038 A31,018
OSHEO MEX AN IHA 84,020,000& 84,020
= 58,814
Al 25,206
LOoIE20| HIRH K& 84,810 113,633 N28,823
= 59,367
Al 25,443
307 QIZtOIA 84,810 113,633 AN28,823
= 59,367
Al 25,443
05 oIt 84,810 113,633 N 28,823
OLQE20| BIRH X 84,810,000% 84,810
= 59,367
Al 25,443
Moteol SXAIE XN (S2AA 231,210 320,100 88,890
Al 231,210
307 Q20| A 231,210 320,100 A\ 88,890
Al 231,210
02 OI2tAAH X 231,210 320, 100 A\ 88,890
OMItEQl 2XAIE XN (S2AX)
231,210,000 231,210
Al 231,210
THOtL- QI EXNAIE JIsSEA(EHEY) 13,000 10,297 2,703
Al 13,000
402 QIZ2EXE0| ™ 13,000 10,297 2,703
Al 13,000
01 QI2X=2BEXR 13,000 10,297 2,703
OMII-oIEXAIE JIsE2d 13,000,000& 13,000
Al 13,000
LOIEXIANE 2Y 7,844,688 5,611,117 2,233,571




S AEST D
M Lol=y EX

ol LoI=TAN 2 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

LOoIZXIANAE &4 = 654,700
Al 7,189,988

AMNEEISIAE2AH| 654,700 642,500 12,200
= 654,700

307 QIZtoIA 654,700 642,500 12,200
= 654,700

02 0I2tFAE X 654,700 642,500 12,200
OAMESSEZANE 29 654,700,000 654,700
= 654,700

LOISXAE SAME=E 600,019 720,425 AN 120,406
Al 600,019

307 QIZ2tol A 600,019 720,425 A 120,406
Al 600,019

02 OI2tHAEH X 600,019 720,425 A 120,406
O SEIAESA RS 600,019, 000& 600,019
Al 600,019

SOI=XAIE 26AHl K& 149,400 194,400 A 45,000
Al 149,400

307 QIZtOlA 149,400 194,400 A45,000
Al 149,400

02 QI2HAEAAMNEX 149,400 194,400 A 45,000
OL=QI= X AL 2HA| 149,400,000 149,400
Al 149,400

LoIREAdZAIE XA 511,923 0 511,923
Al 511,923

307 QI2tolA 511,923 0 511,923
Al 511,923

02 0I2tZAE X 511,923 0 511,923
ORI AZ Al XA 511,923,000& 511,923
Al 511,923

LOIQAUALE 24 1,611,720 0 1,611,720
Al 1,611,720

307 QIZtolA 1,611,720 0 1,611,720
Al 1,611,720




SM: AEI= XD
A Loy X

ol LOI= TN 29 (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

02 SlZtFAE=X 1,611,720 0 1,611,720
OLQRAANLE 24 1,611,720,000& 1,611,720
Al 1,611,720

Lo Ad K& 4,316,926 0 4,316,926
Al 4,316,926

307 glz2told 4,316,926 0 4,316,926
Al 4,316,926

02 BIZHEANE X 4,316,926 0 4,316,926
OLRZAE X 4,316,926,000& 4,316,926
Al 4,316,926

S Ml = 15,838,596 16,288,401 A 449,805
= 7,077,706
Al 4,611,411
- 4,149,479

E2F]0ts & AN 14,513,441 14,831,188 AN317,747
= 7,015,706
Al 4,537,911
- 2,959,824

SFSAESAA 1AH XA 1,895,705 1,580,000 315,705
= 1,002,284
Al 692,964
- 200,457

307 gQiz2tolA 1,895,705 1,580,000 315,705
= 1,002,284
Al 692,964
- 200,457

02 SltFAE=X 1,895,705 1,580,000 315,705
OESAIESALA 22| 1,895,705,000& 1,895,705
= 1,002,284
Al 692,964
- 200,457

SExESANE 22 84,000 35,000 49,000
Al 42,000
- 42,000

307 glz2told 84,000 35,000 49,000




SA
X XH .
(=

9l

At = X ot
S AL 2
2505 & AIEXZ2

SN C(BH) - NRAY - HES Aro Soe HlmE2

307 2IZ2t0lA Al 42,000
= 42,000

02 QUAHFAS X 84,000 35,000 49,000
OE=EsA4d 29 84,000,000& 84,000
Al 42,000
- 42,000

W W=Hl X 113,535 137,000 N23,465
= 68, 121
Al 31,790
- 13,624

307 2IZ2t0lA 113,535 137,000 AN23,465
= 68, 121
Al 31,790
= 13,624

02 QUAFAE X 113,535 137,000 A23,465
OESAIE W] 113,535, 000& 113,535
= 68,121
Al 31,790
- 13,624

SFWA HRoHAHl K& 1,115,400 837,000 278,400
Al 557,700
- 557,700

307 glzZtold 1,115,400 837,000 278,400
Al 557,700
- 557,700

02 BltFAE=X 1,115,400 837,000 278,400
OESsWAL MSIH&H| 1,115,400,000& 1,115,400
Al 557,700
- 557,700

AN&0I0I80ts =Y 218,951 0 218,951
= 138, 262
Al 53,037
- 27,652

301 getEazg 218,951 0 218,951
= 138, 262




2AM: AtRIS X0
HH: O AHIA S0

o9 ER0IS L ALK (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YBtEa= Al 53,037
= 27,652
01 AMIEBEHESHZ3 218,951 0 218,951
OAlE0I0I80ts 2E+Y 218,951,000& 218,951
= 138,262
Al 53,037
- 27,652
EAE SAML s XA 7,800 5,300 2,500
Al 3,900
- 3,900
307 QI2t0IA 7,800 5,300 2,500
Al 3,900
= 3,900
02 tAAEX 7,800 5,300 2,500
OESAE SAKN MsUal XA
7,800,000& 7,800
Al 3,900
- 3,900
NASE BES2 7,412,240 6,268,000 1,144,240
= 4,679,316
Al 1,797,061
- 935,863
307 QIZ2t0IA 7,412,240 6,268,000 1,144,240
= 4,679,316
Al 1,797,061
= 935,863
02 A4S X 7,412,240 6,268,000 1,144,240
OMASE B2 7,412,240,000& 7,412,240
= 4,679,316
Al 1,797,061
- 935,863
BSAE dtEd X3 128,750 106,000 22,750
Al 64,375
- 64,375
307 QI2told 128,750 106,000 22,750
Al 64,375




SN ARIS X
B BRAMHIA SO
SH9l: PS0IE 2 AR

SN (B) - MBEAY - B2 Aol Soe HRZ2

307 QI2+0|H =) 64,375

02 OI2tFAE X 128,750 106,000 22,750
OBSAIE Yitety] K& 128,750,000 128,750
Al 64,375
- 64,375

OSANIOF RAE=EZ 646,781 1,180,000 A533,219
= 407,814
Al 157,404
- 81,563

307 QI2t0IA 646,781 1,180,000 A533,219
= 407,814
Al 157,404
= 81,563

02 OI2tFAE X 646,781 1,180,000 A533,219
OOBNIOF 2AaEES 646,781,000 646,781
= 407,814
Al 157,404
- 81,563

Ao Ex& XIS 1,425,120 583,288 841,832
Al 712,560
- 712,560

307 QIZ2to| A 1,425,120 583,288 841,832
Al 712,560
- 712,560

02 oIt AE X , 425,120 583,288 841,832
OMTOF 282 1,425,120,0008! 425,120
Al 712,560
- 712,560

OO RAaE=ES 651,854 506,000 145,854
= 411,044
Al 158,601
- 82,209

307 QI2tolA 651,854 506,000 145,854
= 411,044
Al 158,601




SA
X XH .
(=

chel:

At = X ot
S AL 2
2505 & AIEXZ2

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told - 82,209
02 plztFaEx 651,854 506,000 145,854
OOt RAESE 651,854,000& 651,854
= 411,044
Al 158,601
T 82,209
SAHOIY E5E 461,009 500,000 A 38,991
= 308,865
Al 90,371
- 61,773
307 QI2t0IA 461,009 500,000 A 38,991
= 308,865
Al 90,371
- 61,773
02 QItFAE X 461,009 500,000 A 38,991
CESVENPNCES-] 461,009,000 461,009
= 308,865
Al 90,371
T 61,773
HIMNASS0ts Sdsisdl N 144,000 54,000 90,000
Al 72,000
- 72,000
307 QIZt0IA 144,000 54,000 90,000
Al 72,000
- 72,000
02 QtFAE X 144,000 54,000 90,000
OHZHASEOS SFLY)
144,000, 000& 144,000
Al 72,000
T 72,000
HENMASEO0S U2AAE0IE HHEX 105,000 55,800 49,200
Al 52,500
- 52,500
307 QIZt0IA 105,000 55,800 49,200
Al 52,500
- 52,500




2AM: AtRIS X0
HH: O AHIA S0

Sl PS0E ¥ AISXE (5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
02 LAANBE 105,000 55,800 49,200
OBIENASEOIS QUNAL0IS IHAURBE
105,000,000% 105,000
Al 52,500
o 52,500
QY0 LHERE N 88,476 40,000 48,476
Al 44,233
2 44,238
01 YsrEaZ 88,476 40,000 48,476
Al 44,233
2 44,233
IIEEEEEYE 83,476 40,000 48,476
OUAO PHESE 83,476, 0002! 83,476
Al 44,233
o 44,233
MDA Q1228 X 14,820 21,000 26,180
Al 7,410
2 7,410
307 eI2t0IH 14,820 21,000 6,180
Al 7,410
2 7,410
02 LIAANBE 14,820 21,000 6,180
OUMRA Q1228 14,820,0002! 14,820
Al 7,410
2 7,410
250 AyYs 1,116, 155 594,613 521,542
EEAY Lot X8 3,950 2,890 1,060
201 Lsr2 | 2,950 1,890 1,060
01 AR el 2,950 1,890 1,060
O2S9Rs 24+ 70,0002 ¥102 %43 2,800
OHESSHIAAY STHLIA0 844
2 12,5002 1231 150
203 ARFXY| 1,000 1,000 0
CIEEREEETY 1,000 1,000 0
ORSFZ B 1,000,0002! 1,000
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2AM: AtRIS X0
o O AHIA S0

ool 2S0l AU (St5: & 2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
EEALBLS L FSTAS 5,600 7,740 A2,140

201 Lpr2y| 5,600 7,740 A2,140
03 A= 5,600 7,740 A2, 140
OESDA G418 4,000
0T 10,0002 *200% +25] 4,000
O2SDASA 2ALY
100,0002 ¥4 Al 24423 800
OESALT DS BALY
100, 0002 ¥4 Al 2++23] 800
NYPEALE 2YX S 198,285 188,983 9,302
307 eI2t0IH 198,285 188,983 9,302
R ETEES 198,285 188,983 9,302
ONFESAE 2N 198,285,0002 198,285
SEAE RPRAY 88,000 72,000 16,000
307 BI2t0IH 88,000 72,000 16,000
2 QIANTABE 83,000 72,000 16,000
OESAE DS 83,000, 000! 83,000
012t U JIHEFAL DA HPESH X 720,000 228,000 492,000
307 eI2t0lH 720,000 228,000 492,000
2 SIHTARE 720,000 228,000 492,000
OESALE DA HRBSY)
100, 0002 6002 * 122 720,000
D12t Y MR BRAIL FI| ARASH 100,320 95,000 5,320
307 eI2t0IH 100,320 95,000 5,320
02 PAANBE 100,320 95,000 5,320
OOINUBLTASFAIL FIIaR LS|
100,320,0002 100,320
SRAL JS2EY 209,000 862,600 653,600
= 62,000
Al 73,500
2 73,500
ESAE HE0INH 2Y) 60,000 60,000 0
= 30,000
Al 15,000
2 15,000
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2AM: AtRIS X0
HH: O AHIA S0

&Rl EFAE s (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
402 SIZ2HX =0l 60,000 60,000 0
= 30,000
Al 15,000
= 15,000
01 QUAXR=2EX 60,000 60,000 0
O=38 EsAM4E §50INMH7Y)
60,000,000& 60,000
= 30,000
Al 15,000
- 15,000
BSAE SZMEOIE=) 60,000 30,000 30,000
= 30,000
Al 15,000
- 15,000
402 QI2EXE01M 60,000 30,000 30,000
= 30,000
Al 15,000
= 15,000
01 QtR=8=x 60,000 30,000 30,000
OBSAE ZME0OIE=) 60,000,000& 60,000
= 30,000
Al 15,000
T 15,000
SBIAIE SZod(FbI4l) 4,000 2,000 2,000
= 2,000
Al 1,000
- 1,000
402 QIZEXE01H 4,000 2,000 2,000
= 2,000
Al 1,000
- 1,000
01 QX=X 4,000 2,000 2,000
OE AL B2 (ZYIH) 4,000,0002 4,000
= 2,000
Al 1,000
T 1,000
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2AM: AtRIS X0
HH: O AHIA S0

& ESAE JIsEE (ctel &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
HOHOISEAIE HES 20,000 20,000 0

Al 10,000
- 10,000
402 QIZEXE0|H 20,000 20,000 0
Al 10,000
= 10,000
01 BIZEXI=22 =X 20,000 20,000 0
OZOtSE AL AL X L E=
20,000, 000& 20,000
Al 10,000
T 10,000
CEESAE HES 35,000 24,000 11,000
Al 17,500
- 17,500
402 QIZHXE01H 35,000 24,000 11,000
Al 17,500
2 7,500
01 QZEREEX 35,000 24,000 11,000
OL=EFAE HEALE X ¥ B+
35,000,000& 35,000
Al 17,500
T 17,500
SSTMSAISAIE K& 30,000 30,000 0
Al 15,000
- 15,000
402 QIZHXE01H 30,000 30,000 0
Al 15,000
- 15,000
01 QIZEXI22 X 30,000 30,000 0
OESHASFASTAIH XA 30,000, 000& 30,000
Al 15,000
T 15,000
Hd=X S 1,343,052 951,733 391,319
= 309,646
Al 622,281
- 411,125
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AN A2 =X
g od=sA 58

S A AIEIEN X (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
o )| EAER 300,000 x12& x10H 36,000
Al 36,000
oM HAER 300,000& x10& *»3H 9,000
Al 9,000
oEsx 50,0003 x12& x1H 600
Al 600
CIE3HIE Al S8 A& 21,475 0 21,475
307 QIZ+tol A 21,475 0 21,475
02 0I2tFAE X 21,475 0 21,475
OUEFHE gsds=Ed N
21,475,000& 21,475
CtE230IE AtE 22| 1,200 0 1,200
Al 1,200
201 LBrEA ] 1,200 0 1,200
Al 1,200
01 AtR22ld] 1,200 0 1,200
OCt=3hits AEXdH 1,200,000& 1,200
Al 1,200
NAS SE2I1E MEOHAEIA 706,002 575,632 130,370
= 285,646
Al 248,806
- 171,550
SHREEIIE AHEHY=E Y WsH A 357,058 227,918 129, 140
= 285,646
Al 71,412
301 dE8AMZ 357,058 227,918 129, 140
= 285,646
Al 71,412
01 A EEE06= 357,058 227,918 129, 140
OB2RIE NUHAS L DIH X
357,058,000& 357,058
= 285,646
Al 71,412
SHREZIIE 5t &23H X3 25,600 25,120 480
Al 12,800
- 12,800
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AN A2 =X
g od=sA 58

et HAS BHIEDIOLE MEOIETE (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
301 getEazg 25,600 25,120 480
Al 12,800
= 12,800
01 ASIEEE=0H3 25,600 25,120 480
OstR2II1E =S &=23Hl A&
25,600,000& 25,600
Al 12,800
- 12,800
SHREZIIE S0 WsSHl X3 62,400 62,400 0
Al 31,200
- 31,200
301 getEazm 62,400 62,400 0
Al 31,200
= 31,200
01 ASIE2EE =63 62,400 62,400 0
Ost®R2IE 10 wst| 62,400,000 62,400
Al 31,200
- 31,200
SHREIIIE SN ssdl XA 140,400 140,400 0
Al 70,200
- 70,200
301 getEazg 140,400 140,400 0
Al 70,200
- 70,200
01 ASIE2EE=63 140,400 140,400 0
OBt=@Its 04 stsyl 140,400,000 140,400
Al 70,200
- 70,200
SHREIIIE SN W=dl X3 21,000 21,000 0
Al 10,500
- 10,500
301 YBtEa= 21,000 21,000 0
Al 10,500
- 10,500
01 AMSEBEEH=H3 21,000 21,000 0
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M AR =X
g od=sA 58
CI9: HAS sI20J1E AMEOFE |2

A BB O(B) - NEAY - BAS Of o e Hl R =2
OstR2IE 0 W=l 21,000,000& 21,000
Al 10,500
- 10,500
SHREIIIE S20| IHAAY 10,344 10,344 0
Al 10,344
301 otEaz 10,344 10,344 0
Al 10,344
01 AMSIEEH=H3 10,344 10,344 0
OstRL2IE s=20] IHAMY 10,344,000& 10,344
Al 10,344
SHERIIE HHAZH X2 69,600 69,600 0
Al 34,800
- 34,800
301 YotEa=z 69,600 69,600 0
Al 34,800
- 34,800
01 AMIEBHEESHZ3 69,600 69,600 0
OstERIIE Loy
120, 0002 *580 M CH*13] 69,600
Al 34,800
- 34,800
SHERItE A X2 5,750 5,000 750
Al 5,750
301 getEazg 5,750 5,000 750
Al 5,750
01 AMIEHEHESGIZ3 5,750 5,000 750
OstR2I1= syl XA 5,750,000& 5,750
Al 5,750
SR ZIIE MU= A2 H & 3,600 3,600 0
Al 1,800
- 1,800
301 utEAaz 3,600 3,600 0
Al 1,800
- 1,800
01 A3IE2EE =063 3,600 3,600 0
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M AR =X
g od=sA 58
CI9: HAS sI20J1E AMEOFE |2

SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OstR2ItE MUzF A2 Z XY
120,000 *30H *13J 3,600
Al 1,800
- 1,800
AE 23AE K& 10,250 10,250 0
301 e A2 10,250 10,250 0
01 A E&EE56= 10,250 10,250 0
OAEAEHINE L SR2IHEXE S5
= 25,000& x410H 10,250
SAUABSANE 2H 348,275 305,201 43,074
= 24,000
Al 324,275
DUESAE(SM2NE) XS 276,275 258,201 18,074
Al 276,275
307 QIZtolA 276,275 258,201 18,074
Al 276,275
02 oIzt AE X 276,275 258,201 18,074
ORXNESAIL(S8MIRE) 22
276,275,000& 276,275
Al 276,275
SUESAE EAX ANEEHEHZ XS 24,000 27,000 A 3,000
Al 24,000
307 QI2t0IA 24,000 27,000 A 3,000
Al 24,000
02 0I2tFAE X 24,000 27,000 A3,000
ORXNESAIE EAX ANEHEEZ
24,000,000& 24,000
Al 24,000
SHERIIE SXAE JIsE 48,000 20,000 28,000
= 24,000
Al 24,000
402 QIZ2EXE0| A 48,000 20,000 28,000
= 24,000
Al 24,000
01 QI2tX=2EX 48,000 20,000 28,000
ORBXNESAIE JIsE2 48,000,000& 48,000
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SA
X XH .
(=

chel:

At = X ot
Hd=X s&
SAESAE 29

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 24,000
Al 24,000
ALINE =X XA 200,000 0 200,000
SN e 2 Fot=2 XA 200,000 0 200,000
301 Letg8Aa= 200,000 0 200,000
01 AIIEEE 0= 200,000 0 200,000
OA Ol =40t E4H=5E3
1,000, 000& *200H 200,000
Ots=X & & 2,584,013 2,114,802 469,211
= 263,079
Al 1,524,317
- 796,617
FHEAHSE OlsE2S 1,635,721 1,142,860 492,861
= 46,243
Al 1,328,193
- 261,285
OtsSE X LBHAIY XI& 2,460 2,460 0
201 LErEIH| 1,960 1,960 0
01 ArR2t2|t| 1,960 1,960 0
Olts<ds 29 70,000 x14H x23| 1,960
203 YRF&Y| 500 500 0
03 AMF=XAIFAHI 500 500 0
O0tss A &¢ 500,000& 500
ZA0ts 24 X3 1,500,000 1,000,000 500,000
Al 1,241,175
- 258,825
301 LBt A= 1,500,000 1,000,000 500,000
Al 1,241,175
- 258,825
01 A& E06= 1,500,000 1,000,000 500,000
OZAOISSANIY 1,500,000, 000! 1,500,000
Al 1,241,175
- 258,825
SUHEAots S 60,000 54,000 6,000
= 42,000
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AN A2 =X

By ols=x Ao B
ool NS OISEE (ciel me
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

S Lots =Y Al 18,000

301 utEa= 60,000 54,000 6,000
= 42,000
Al 18,000

01 ASIE2EE =63 60,000 54,000 6,000
O=2Ugeols = 60,000, 000& 60,000
= 42,000
Al 18,000

SHLLIHE AFHIXA 67,200 86,400 219,200
Al 67,200

301 YotEaz 67,200 86,400 219,200
Al 67,200

01 ASIEBEE=H3 67,200 86,400 A 19,200
O3 LIE 2=l 67,200,000& 67,200
Al 67,200

ZOiots L=l X2 6,061 0 6,061
2 4,243
Al 1,818

301 YEtEAE 6,061 0 6,061
2 4,243
Al 1,818

01 A2I2EE=2063 6,061 0 6,061
OHOts & 2A2A=H| 6,061,000& 6,061
= 4,243
Al 1,818

A2E4A4 I ES 191,684 179,428 12,256
= 35,512
Al 104,966
- 51,206

A2EAEIE & JHERKEY 2SI 67,200 70,560 A 3,360
Al 60,480
- 6,720

301 dotEa= 67,200 70,560 23,360
Al 60,480
- 6,720
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SA
X XH .
(=

chel:

At=l = K| 2t
ots=X 24
NS ENER)

04 Jo
HI O

22
J2

IIREEEEEEE 67,200
OAEAEIIE L JHFS &

67,200,000% 67,200

Al 60,480

= 6,720

AUAHIY S XS 73,120

Al 36,560

2 36,560

01 YetEaz 73,120

Al 36,560

2 36,560

01 ABIEZEIHS 73,120

Odt A48t % +3toisyt] 7,200,0002 7,200

Al 3,600

= 3,600

OASIHSTHY N 7,000, 0002 7,000

Al 3,500

- 3,500

OF8H0tS S AIZH| 31,320,000 31,320

Al 15,660

- 15,660

OStS RO ot | 12,600,00024 12,600

Al 6,300

- 6,300

SIETE= 5,000,00024 15,000

Al 7,500

- 7,500

IIHLISOIS AEEE N 6,724

= 4,264

Al 1,230

2 1,230

01 YerEaz 6,724

= 4,264

Al 1,230

2 1,230

IIEEEEESE 6,724
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AN A2 =X

HH: os=X A S
oelr AHA JIE ©5 (chel: & 2
SN S(B) - NRAY - B2 O] &k o8 e =2
OJlE<IE0ls 2= 6,724,000 6,724
= 4,264
Al 1,230
T 1,230
LES0ts 22X A X 44,640 33,480 11,160
= 31,248
Al 6,696
- 6,696
301 Lptsazg 44,640 33,480 11,160
= 31,248
Al 6,696
- 6,696
01 ASIE2EHE =63 44,640 33,480 11,160
ORES0tsLEH 44.,640,000& 44,640
= 31,248
Al 6,696
T 6,696
guzna Y 2L 2A 756,608 792,514 235,906
= 181,324
Al 91,158
- 484,126
st gtz A 29 392,968 377,314 15,654
307 glz2told 392,968 377,314 15,654
02 SltFaEx 392,968 377,314 15,654
OZSsM 2NEDY 2|
158,240,000& 158,240
Ox=Sstd gt s SALA el2dd]
222,728,000& 222,728
OZSsM Y2 DA HESSY)
6,000,000& 6,000
Ox=S&sd s al NRE2HI(4HL)
6,000, 000& 6,000
KNS 0tsdH s H X 28,000 24,000 4,000
Al 14,000
- 14,000
402 QIZEXE01H 28,000 24,000 4,000
Al 14,000
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AN A2 =X

B ols=x Ao B
SHol: UDSDA U BRY 2 (Er9): &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 QIZERHEOIA = 14,000
01 QtR=8=x 28,000 24,000 4,000
OX<9ots4dH stz XA
28,000, 000& 28,000
Al 14,000
- 14,000
XEotsdH 22 X3 241,520 391,200 A 149,680
= 120,760
Al 60,380
- 60,380
307 glz2told 241,520 391,200 A 149,680
= 120,760
Al 60,380
= 60,380
02 QItFAE X 241,520 391,200 A 149,680
OXN<otsdH 23| 241,520,000& 241,520
= 120,760
Al 60,380
- 60,380
X 0tsdH ots=EX WAL XI& 86,520 0 86,520
= 60,564
Al 12,978
- 12,978
307 glztold 86,520 0 86,520
= 60,564
Al 12,978
= 12,978
02 QtFAE X 86,520 0 86,520
OXNS0otsHH OtsS XA X2 4
86,520,000& 86,520
= 60,564
Al 12,978
- 12,978
KE0otsSHE SAN HIMAH X2 7,600 0 7,600
Al 3,800
- 3,800
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2AM: AtRIS X0
M Ols=X A

=
=)
Sl BNERA o 3

it
i3

(o]
oS

0
H0

_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
307 212+0I 7,600 0 7,600
Al 3,800
2 3,800
02 QIAHARE 7,600 0 7,600
OXSOISHE SAK MMMl K&
7,600,0002 7,600
Al 3,800
- 3,800
MEISTAE Setee 2 N 6,974,828 6,517,892 456,936
2 62,439
Al 6,713,869
2 198,520
Kot AEIZXAE K 120,750 107,830 12,920
Al 27,300
2 93,450
MEISXAERIE L LBHx 2 81,750 72,630 9,120
201 Yere gl 2,400 0 2,400
01 At222/H| 2,400 0 2,400
OAMBISIAILZE M 22t 2,400,0008! 2,400
202 01 6,720 0 6,720
01 =0Tt 6,720 0 6,720
OSXAIE SEZ A
10,0008 542+ 142 » 128 6,720
203 PRETH 1,500 1,500 0
03 AMFALSEAY| 1,500 1,500 0
OAMBISXIAIE et 1,500,0002 1,500
301 YRy 71,130 71,130 0
IIEEREETE 71,130 71,130 0
OMBIZXAIE 918 71,130,0002 71,130
JIEESHWIANY XV 39,000 35,200 3,800
Al 27,300
2 11,700
307 212+0I A 39,000 35,200 3,800
Al 27,300
2 11,700

_33_




AN A2 =X
M Al SAAE S22 # X2

@ XS MII=XAIE X3 (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 OI2tFAE X 39,000 35,200 3,800
OJ=ZFEEWIAIY X3 39,000,000& 39,000
Al 27,300
- 11,700
SEAEE2XN2 &Y 1,315,217 1,012,854 302,363
Al 1,217,347
- 97,870
SEAMNTS K SEMAISHI 60,000 60,000 0
301 Et2AS3 60,000 60,000 0
01 MIBEHHZ2 60,000 60,000 0
OB S AEIZ X2 SM4ALIH| 60,000,000 60,000
SeAg S 2 2208 29N 136,740 136,740 0
Al 136,740
307 QIZt0IA 136,740 136,740 0
Al 136,740
02 0I2tFAE X 136,740 136,740 0
OZBABI=NZ T2IA2H X2
136,740,000& 136,740
Al 136,740
SEAME=EXEH2E I3 760,467 734,514 25,953
Al 760,467
307 QI2tolA 760,467 734,514 25,953
Al 760,467
02 OI2tZAYH X 760,467 734,514 25,953
OsEAMI=RZ 29 XA 760,467,000& 760,467
Al 760,467
SEAZEXN 2 SAINEHASE 80,400 81,600 A 1,200
Al 80,400
307 QIZtolA 80,400 81,600 A 1,200
Al 80,400
02 QI2HEAMNEX 80,400 81,600 A 1,200
OZEA SN2 SAIGES =Y
80,400,000& 80,400
Al 80,400
Atddl2tel Sz 0 A3 109,410 0 109,410
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AT MIIEX
M A2 SAAE S22l # X2

Ciel: ZEAESNT 29 (S5 &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
At 22| Sstzz ) X Al 109,410

307 QI2tolA 109,410 0 109,410
Al 109,410

02 QUHBAEX 109,410 0 109,410

OUIEAIIE K& L IS)|sZsAEIA(

ANIASAZESTIZ2 AR 109,410,000& 109,410
Al 109,410

SEAMI=SXE JIs22H| 108,200 0 108,200
Al 70,330
- 37,870

402 QIZEXE0| A 108,200 0 108,200
Al 70,330
- 37,870

01 QI2X=2BEX 108,200 0 108,200
OFTeAEX2 JlsE2H] 108,200,000 108,200
Al 70,330
- 37,870

APAUNSHA SEAIF SN2 AT ) 60,000 0 60,000
Al 60,000

307 QI2tolA 60,000 0 60,000
Al 60,000

02 QUHBAEX 60,000 0 60,000

OYIRAUHRX ESEAIsI=EX& AT

e 60,000,000 60,000
Al 60,000

MIIS X SAHAE 29 201,189 195,534 5,655
Al 201,189

OIS XS AHHEH 29 K& 201,189 195,534 5,655
Al 201,189

307 QIZ2to| A 201,189 195,534 5,655
Al 201,189

02 0QI2tHAEH X 201,189 195,534 5,655
OMIEXSAMEEH 29 201,189,000& 201,189
Al 201,189

ORI =XAIE 2 5,337,672 5,201,674 135,998
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AN A2 =X
M A2 SAAE S22l # X2

ciel: ZOpRI=TAE S (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ZOHI=ERIAE 22 = 62,439
Al 5,268,033
- 7,200
ZOHAERNAIE SMHHEHAS=E K& 425,400 404,400 21,000
Al 425,400
307 glz2told 425,400 404,400 21,000
Al 425,400
02 QltF&E=X 425,400 404,400 21,000
OTMHA=XNAIE SANEA=E
425,400,000& 425,400
Al 425,400
ZOHQl MEAL 2 2,600,000 2,260,342 339,658
Al 2,600,000
307 QI2t0IA 2,600,000 2,260,342 339,658
Al 2,600,000
02 QtFAE X 2,600,000 2,260,342 339,658
O MEAL 2 2,600,000,000& 2,600,000
Al 2,600,000
ANELAYJAER 2HEH| 33,710 16,320 17,390
Al 33,710
307 QI2t0IA 33,710 16,320 17,390
Al 33,710
02 BltFAExX 33,710 16,320 17,390
OAI &2l A Q2B X2 bl 33,710,000 33,710
Al 33,710
ZOHQl MEAIM TEMNEZZ20BAMY X3 25,000 25,200 A200
Al 25,000
307 glzZtold 25,000 25,200 A 200
Al 25,000
02 SltF&E=X 25,000 25,200 2200
OFOfel MEAL NHEZT2IBAIAY)
25,000,000& 25,000
Al 25,000
ZOoHel MNAMEANE 2 131,949 131,949 0
Al 131,949
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AN A2 =X
M A2 SAAE S22l # X2

ciel: ZOpRI=TAE S (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

307 QIZ2+tol A 131,949 131,949 0
Al 131,949

02 OI2tHAEH X 131,949 131,949 0
OO MNATHEAE 2Y 131,949,000& 131,949
Al 131,949

Zofel=x2 29 980,400 925,000 55,400
Al 980,400

307 QIZtolA 980,400 925,000 55,400
Al 980,400

02 QI2ztZAE X 980,400 925,000 55,400
O&eI=EX&2d 980,400,000 980,400
Al 980,400

ZOHe MItsEXHEH 89 74,981 73,000 1,981
Al 74,981

307 QI2tolA 74,981 73,000 1,981
Al 74,981

02 0I2tFAE X 74,981 73,000 1,981
OZOoel MII=EXHE2H 74,981,000& 74,981
Al 74,981

HEEC JIAFER0] XI& 43,000 43,000 0
Al 43,000

307 QIZ2to| A 43,000 43,000 0
Al 43,000

02 QI2HEAMNEX 43,000 43,000 0
ORI JIAER0] AFY 43,000,000& 43,000
Al 43,000

ZOHCl F2UHESAIE 29 352,000 310,000 42,000
Al 352,000

307 QIZ2t0IA 352,000 310,000 42,000
Al 352,000

02 0I2tFAE X 352,000 310,000 42,000
O&MRIFAESAIESA 352,000,000 352,000
Al 352,000

AoHCl FAHESAIE s X3 14,400 14,400 0
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AN A2 =X
M A2 SAAE S22l # X2

ciel: ZOpRI=TAE S (E9: @)
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2

HOQ F2AESAIE g N Al 14,400

307 QIZt0IA 14,400 14,400 0
Al 14,400

02 fltFAE=X 14,400 14,400 0
O&ofel =2AESAE A= 14,400,000& 14,400
Al 14,400

ZoHel SHIIESAE 29 82,750 80,340 2,410
Al 82,750

307 glztold 82,750 80,340 2,410
Al 82,750

02 QtFAE X 82,750 80,340 2,410
OZR EHIESAE 2 82,750,000& 82,750
Al 82,750

ol ssdHEIE 2 92,904 93,900 A 996
Al 92,904

307 QIt0IA 92,904 93,900 A 996
Al 92,904

02 QISR 92,904 93,900 A 996
OZMZSMEIIERY 92,904,000& 92,904
Al 92,904

FoHMs2 29 62,000 60,000 2,000
Al 62,000

307 glz2told 62,000 60,000 2,000
Al 62,000

02 QltF&E=X 62,000 60,000 2,000
OHMeNs22H 62,000,000& 62,000
Al 62,000

ZOHQl MEAIL JIsE 124,878 682,292 AbB57,414
= 62,439
Al 62,439

402 QIZEXE0|H 124,878 682,292 AbB57,414
= 62,439
Al 62,439

01 BIZEXI=22 X 124,878 682,292 AbB57,414
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SA

At = X ot

M AL SXAE S22 € IH
o9 FOjI=XAlE 29 Rk
SA-EH O (BH) - HBAY - B2 gggf; HRS2
OOl MEAIL DIsES 124,878,000 124,878
= 62,439
Al 62,439
SO XISAISITHEAAE JsEY 220,500 10,990 209,510
Al 220,500
402 QI2tX 20| 220,500 10,990 209,510
Al 220,500
It NEE X 220,500 10,990 209,510
OFOMC! XIFAISIMEAE JIsB2S
220,500, 000& 220,500
Al 220,500
ZHOHO!I MEAlAE UAXE 2HALH] 59,400 54,000 5,400
Al 59,400
307 QI2tolA 59,400 54,000 5,400
Al 59,400
Q2 AE X 59,400 54,000 5,400
OR IOl MBAIL AAT 2HAH|
59,400,000 59,400
Al 59,400
HOISHAMDAIE 29 14,400 13,056 1,344
Al 7,200
- 7,200
307 QI2tolA 14,400 13,056 1,344
Al 7,200
- 7,200
QAR 14,400 13,056 1,344
OMI2AMDAIL K& 14,400,000 14,400
Al 7,200
- 7,200
HE2AAH(AFEI 2 X 1) 58,225 36,502 21,723
Al 7,500
- 50,725
ol 2HH|I (A S X ) 26,040 4,200 21,840
Al 7,500
- 18,540
ol 2AH| MEAZE (AFRI=X 1) 26,040 4,200 21,840
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2AM: AtRIS X0
M AL (MEI=X1)
el ol 2| (AL S XD (el =3
_ _ HE T
SNBSS - MEAY - BES 0l &k 24 0l ot o ClImEE
QIA2HEEl NRA (A= X1 Al 7,500
- 18,540
101 el H] 21,840 0 21,840
Al 7,500
- 14,340
09 RIAHAZZTHE S 21,840 0 21,840
OEsaz4d 2N
1,820,000 * 1H 124 = 21,840
Al 7,500
- 14,340
203 HRF&H 4,200 4,200 0
04 REN2IIRFL 4,200 4,200 0
ORAMEZ HRFZHI(302/0/5t)
350,000& 123 4,200
Jledbl(Atsl 2 X0 32,185 32,302 A7
Jl2ZHl NS A (AtSIS XDt 32,185 32,302 A7
201 et 19,705 16,242 3,463
01 At 2cld] 19,705 16,242 3,463
Ooget=8Hl 54,500« 17+ 123 11,137
o=l 7,000 x 17 +64! * 12 8,568
202 Od4dl 12,480 15,360 2,880
01 =LHAHHI 12,480 15,360 22,880
O&& 0l 10,0003 13 8«12 12,480
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